9.1 AP Practice Problems (p.651) — Parametric Equations

L. Which pair of parametric equations represents a plancq curve
that is a circle with a radius of 3 and a center at 0,0)?

(A) x(r) = 9cost, y(t) =9sint,0 S =27

(B) x(r) = 3sint, y(r) = 3cost, 0t
@ x(t) = 3sin(21), y(t) = 3cos(21), o<t<nm

(D) x(t) = cos(31), y(r) = sin(3#),0 <1 < 27
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3. A rectangular equation of the parametric
: |
equations x(t) = 4cost, y(t) = 3 sint is
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4. An object is moving along a plane curve according to the
parametric equations

x(r) = -5cos (%:) , y(1) = 2sin (%r) ,0=<t<8

(a) Find a rectangular equation for the parametric equations.

(b) Describe the motion of the object from¢ = 0tot = 8. Be
sure to include where the object begins, where it ends, its
path, and its orientation,
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